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Sr Questions Answers Choice

1 Due to fast increase in human population:

A. Vegetable oil demand is
increasing very fast
B. There is no change in vegetable
oil demand
C. Demand of vegetable oil is not
increasing
D. Vegetable oil demand is
increasing slowly

2 In the world, United states of America:

A. Produces maximum vegetable oil
among nations
B. Not produces vegetable oil
C. Can produce vegetable oil
D. Cannot produce vegetable oil

3 According to medical experts, vegetable oil is better than ghee & butter:
A. For human health
B. Not better for human health
C. Injurious for human health
D. Is suitable for human health

4 At present, seventeen oil seeds are being used:
A. To fulfil the diet of man
B. For getting protein
C. For getting oil
D. For getting vitamins

5 Due to huge population increase by animal means:

A. To fulfil fat demand is not possible
B. Fat demand is easily being fulfilled
C. Fat demand could be easily
fulfilled
D. To fulfil the fat demand will not
possible


